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1.

12.

13.

14.

15.

16.

Solve the following differential equation ydx+(x—Iny)dy=0. [92 5+ TR
A ]

Solve (2x—ysinx)dx+(cosx—3y*)dy=0. [94 AR T 10%]
Solve (3x* —2xy+2)dx+(6y* —x* +3)dy=0. [94 & ~F1="F710%]

S
Solve & W ZCOSXSINX ) Loa | VR 10%])

dx y(l—xz)

Solve the initial value problem 2xy’+1+(3x°y*+1)y'=0, y(1)=1. [94 {&¥* s
10%]

=IHIBx +xy" =x"y* 'y =0 > ()7 a - {fif ODE I—F’—‘[ ° (b):‘J*I—F’—] ODE Vi - [94
’FI REIETE AT 15%]

ﬂ 1+y*+3x"y

Solve . [93 J\fﬂjﬁ F'—f - 12% )

dc 1-2xy-x°

Solve the exact differential equation y(2x2y2+l)y'+x(y4+l) 0.[94 ¢ fi PR
12%]

Solve (ax+by)dx+(rx+sy)dy=0, where a, b, r, s are constants, and it is an exact
equation, what is the required condition? [94 HFJ\E‘B T 17% )

Solve & _2X¢siny g4 VRS 10%]
dx l+e'cosy

If cx’ye’ +2cos y+ (Xsyey +x’e” +kxsin y)y’ =0, find ¢ and % so that the ODE is exact,
and solve it. [94 & (" 10% > 91 {1 Iﬁ%%ﬁa’?“%]

Solve 3x* +2¢&™ siny+(e“cosy+3)y'=0, y(1)=0. [92 ﬁ,‘ﬁ‘i[ﬁ%ﬁ&’i’?lo%]
Solve (y5602x+secxtanx)dx+(tanx+2y)dy:O. [92 HI’F"L“F;‘L?’?&%EI’?IO%]
Solve (x2—4)y'+2xy+4=0, y(0)=0. [89 Z=E[FTHAT5%]

Solve (l—2xe”)y'—e” =0. [90 :[Lfil‘{ﬁ@’;l’?S%]

Solve y'[2 —xcos(xy)]—ycos(xy) =0. [88 J" %[ & =Rt 15%]
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31.

Solve (ycosx+2xey)dx+(sinx+x2ey—l)dy:O. [89 [l EFEFT7%]
Solve (cosxsinx—xyz)dx+y(1—x2)dy:O, y(O)zO. [91 f}“\?#”ﬁ%{iﬁﬁ’?lo%]
Solve (2x+3y+4)dx+(3x—4y—-11)dy=0. [88 :[ifi[ﬁ,jﬁg'fﬁ*é%%]

TP A (00 + 007 ) dx+(ax’y + h(x,y) ) dy = 0 exact ? R A [ 91
F Iq\"y{%”ﬁ’? 10%])

NY[H L exact differential equation ?
(a) (3x2 +y’ +1)a’x+(x3 +2xy° —l)dy =0
(b) (lnx+y)dx+(lnx+x)dy =0

(¢) (tanx—y)dx+(secx—y)dy=0

() —lzdx+ldy=0
x x
(e) (2+x2y)?+xy2 =0 [90 f}i#ﬁug@ﬁmo%]
x
Solve (ez’”—ycosxy)dx+(2xe”—xcosxy+2y)dy=0. [91 Hlj*?%[i%}’i’?6%]
Solve (xe“"—l)y'+ey =0. [91 HVRL{™Z A7 10%]
Solve xy*+e*+2x’y’y'=0. [88 ’F"[*LI’F:_TQ'E[’? 10%]

(a) If M+ Ny'=0 has a solution, then it has an integrating factor. Explain!
(b) Solve (x+y)dx+xInxdy=0. [88 ’F"Iﬁ[%i":’l’?ﬁ%]

Solve (x2y3— 2ja’x+x3y2dy=0. [88 J°K[% [*H7120%])

1+9x

Solve (2+x2y)y'+xy2:0, y(1)=2. [87 ’F[f-l (=7 A5 10%)

[f(x)+g(y)]dx+[h(x)+p(y)}dy=0 ) lﬁ@l’%l*j\ » O.D.E. exact ? [88 f[it+ #
1 10% )

Solve (3x—2y)y'=3y. [87 ’F",J\f%i: F15%)
Solve e"sin ydx+e" cos ydy +3(ydx+xdy)=0. [91 T'z\{rr%ﬂt’ﬁ’?S%]

PP H— [HgyZe =t kL exact differential ?
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(a) 2xydx+ (x2 — 1) dy

(b) (cosxsinx—xyz)dery(l—xz)dy

(¢) (tanx—y)dx—(secx+y2)dy

() 1+1nx+1jdx—(1—1nx+y)dy

X

(e) (tan X —sin xsin y) dx + cos x cos ydy
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